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    (b) Question no 11 to 22 are 4 mark each





   (c) Question no 23 to 29 are 6 mark each
1. Let set A contains 3 elements. Write the total number of binomial operation possible.
2. Evaluate 
Sin ( ( – sin-1 (-1)(
                                 3              2

3. Solve for x:  (2x
5( = (5
-4(
4. Given matrix A = (4
2(, Find matrix KA, where K =½.

5. Find a point on the curve y = x2 – 4x -32 at which tangent is parallel to x-axis.

6. Find the scalar and vector component of a vector with initial point (2,-1) and terminal point (-5, 7).
7. Find the angle between the line 
x + 1= y - 1 = z -2 and the plane 
    2x + y - 3z = 4.                                  3        2
   4
8. Evaluate
(sin x
                  Sin (x+5) dx

9. Show that the matrix B’AB is symmetric or skew symmetric according as A is symmetric or skew symmetric.
10. Find the projection of a( = 2i + j + k on i+2j+k.
11. Show that the function F: R-{-1} (R-{-1}, given by f(x) = x-3 is a     bijective function.                                                                   x+1
12. Prove that     1+a     1      1 
                            1      1+b    1             = abc+ab+bc+ca 
                            1         1     1+c                                               

                                                          =abc [1  +    1+     1 +   1   ] 

                                                                               a       b    c

13. If cos-1x + cos -1 y =0, the n prove that 9x2-12xy cos( 

2       3

14. Find the values of a & b, so that the function ‘f ‘defined

        by F(x) =ax-5, if x<=3

 Bx+8, if x>3 Is continuous at x =3

15. Differentiate (cos-1x)2-3x +(logx)x, w.r.t x

OR

   Find dy, if x =1et (cost+sint), y =1et (cost-sin)

           dx          2                             2         

16. Evaluate: ∫ (3x-2) dx/(x2-1) (x+1) or  

                               X2     dx           

                   (x2+1) (x2 +4)

17. Find the interval for which the function f(x) =sin 3x is increasing or decreasing in [0, π/2].

18. Evaluate the integral as a limit of sums: ∫41(x2-x)dx.

19. Evaluate: ∫0-5f(x) dx, where f(x) =׀x׀ +׀x+2׀ +׀x+5׀
20. Find the equation of the plane which is perpendicular to

       the plane 5x +3y+6z+8=0 &which contains the line of 

       intersection of the planes x+2y +3z-4=0 &2x+y-z+5=0.

21. Find the area of a triangle having the points A(1,0,1),B(1,2,-3)&C(4,3,1) as its vertices.

22. In a hurdle race, a player has to cross 8 hurdles. The probability that he will clear each hurdle is 4/5.What is the probability that he will knock down fewer than 2 hurdles.

23. Given A=1 -1 1 Find A-1 & hence solve the system of 

2 1 -3 equation: x+2y +z=4

1 1 1,                -x +2y+z=0

x-3y+z=2

24. Show that the semi-vertical angle of a right circular cone of   given surface and maximum volume is Sin-1 1/3.

25. Evaluate:  ( √tan x dx.

26. Find the general solution of differential equation    dy/dx -2y-Cos 5x = 0.  or

                       y’=2x+y-5
                            1-4x-2y

27. Find the image of the point (1, 2, 3) in the plane x+2y+4z =38.Also the perpendicular distance from the point  to the plane.

28. Three urns, A,B and C contain 6 red and 4 white balls, 2 red and 6 white and 1 red and 5 white balls respectively. An urn is chosen at random and a ball is drawn. If the ball drawn is found to be red, find the probability that the ball was drawn from urn A.

29. A farmer has a supply of chemical fertilizer of type A which contain 10% nitrogen and 5% phosphoric acid, and type B which contain 6% nitrogen and10% phosphoric acid. After testing the soil conditions of the field, it was found that at least 14 kg of nitrogen and 14 kg of phosphoric acid is required for producing a good crop. The fertilizer of type A costs Rs 5/- per kg and the type B costs Rs3/- per kg. How many kg of each type of the fertilizer should be used to meet the requirement at the minimum possible cost? Using L.P.P, solve the above problem graphically. 

Paper Submitted by:
S. K.JENA 

Email skjena.jnvctc@gmail.com 

Phone No.  09937628145                                    
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

